TH26EE MURHERLEERF—K2

(ITavOiER)
(FExOZVHIL)
BEEERE BB R K&

201452 H20H(K) BEREREAX—15 1085004y Bith
ARG RER 111059 10BF30% #2T
¥ a—X  N/FRF LT IR UM -3-2 itttk  AFHBE/NEZX
(108309 IR7E)
8 -15C BEEER =) R
EA | I—XRE I OER
= & oS 843m
EE 1m i & i &= 695m
Z & ZE 158m
F;8 -3.1°C BRESIESZE 133m
S = F= 800
ST RA L
B8
( pFELZF ) 3km (EBZEISTHIL) 0:16:47.1
EfE E'7'NO SAONO K £ B2 B FFERM 2MLE
B #® ARt
1 63 MHEOFN B FRlE 0:16:47.1 00:00.0
2 61 AF  ®E O EL w1 0:17:16.7 00:29.6
3 62 s BF Ml FEd2 0:19:01.8 02:14.7
DID NOT START [0]
DID NOT FINISH [0]
DISQUALFIED [0]
SvTRA L
B.n:#®
{ FZEBF ) 5km (FEEH5AHIIL) 0:17:19.2
JIESI  £"7'NO SAONO K % 2% R FTERRM 44LE
B 5 # o0
1 57 W =th B FFldt 0:17:19.2 00:00.0
2 58 HE BX EL FRle 0:17:37.8 00:18.6
3 56 *® BrE  EL FFldg2 0:19:58.2 02:39.0
4 55 (] FR REWL E2 0:24:17.3 06:58.1
5 51 ML R EW FEAT 0:26:31.9 09:12.7
6 52 FEE MW EHES1 0:27:49.7 10:30.5
7 53 ZEH  BRAX Bl #FEAT 0:28:51.3 11:32.1
DID NOT START [1]
54 A &&H B FEAST
DID NOT FINISH [0]
DISQUALFIED [0]
3 > £
(T o N T -x<

TDH A

b=AH A Ub

L—AK AUt



